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Seat No.: ________                                                      Enrolment No.______________ 
 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGG.-  SEMESTER–III EXAMINATION – WINTEER 2012 

 
Subject code: 335003 Date:  03/01/2013      
Subject Name: Architectural Drawing - III 
Time: 2:30 pm – 5:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks. 
4.  English version is Authentic 

 
Q.1  A stepped block as shown in fig. A is resting on the ground plane. A vertical 

edge is in the picture plane and the longer face containing that edge makes an 
angle of 30o to Picture Plane. S.P is 5cm in front of P.P, 3cm above ground 
and lies in a central plane which passes though centre of the block. Draw 
perspective view of the block. 

14 

Q.2 (a) Draw elevation of a glazed window of 1.20 x1.20m. Render the materials of 
glass, timber and brick wall in elevation. (scale1:20) 

07 

 (b) A square prism, side of base 40mm and height 65mm, is resting on its base in 
V.P. and axis perpendicular to V.P. and 30mm above the H.P. One of the 
edges of the base is inclined at 30o to the H.P. Draw the projections of the 
prism.  

07 

  OR  
 (b) A pentagonal pyramid side of base 30mm and height 55mm is resting on H.P. 

on its base  with one of the edges of base perpendicular to V.P. Draw the 
projections of the pyramid 

07 

Q.3  A hexagonal pyramid, side of base 35mm and height 65mm is resting on H.P. 
on its base with two edges of base parallel to V.P. It is cut by a horizontal 
section plane passing through a point on axis 30 mm from the apex. Draw 
projections with the section. 

14 

  OR  
Q.3  A cylinder is resting on H.P. on its base. It is cut by A.V.P. inclined at 45o  to 

V.P. in such a way that the true shape of section is a rectangle of 50mm x 
60mm. Draw the projections of cylinder  and find the distance of A.V.P from 
the axis. 

14 

Q.4  Draw the development of the lateral surface of the part-P of cylinder shown in 
fig. B. 

14 

  OR  
Q. 4  Draw the development of the lateral surface of the part- P of hexagonal prism 

shown in fig. C 
14 

Q.5  A cone, diameter of base 60mm and height 70mm, is resting on H.P. on one 
of its generators with axis parallel to V.P. Draw the projections of cone.  

14 

  OR  
Q.5  A square pyramid, side of base 45mm and height 60mm, is resting on H.P. on 

one of the edges of the base with axis parallel to HP and V.P both. Draw the 
projections of the pyramid. 

14 
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̆-૧  આĴિત A મા ંદશા½વેલ એક ƨટ°Ɯડ ƞલોક જમીન પર પડ°લ છે. તેની 

એક ઉભી ધાર િપકચર Ɯલેન મા ંછે તથા ત ેધારવાળ� બાȩુ િપકચર 

Ɯલેન સાથે 30° ȣણુો બનાવે છે. ƨટ°શન પોӗટ િપકચર Ɯલેનની ૫ 

સે.મી. આગળ તથા જમીનથી ૩સે.મી. ઉપર, ƞલોƈમાથંી પસાર થતા  

સҪͽલ Ɯલેન પર આવેલ છે. ƞલોƈનો પરƨપેƈટ�વ ƥȻ ુદોરો.  

14

    
̆-૨ (અ) એક ૧.૨૦×૧.૨૦ મી. કાચની બાર�ȵુ ંએલીવેશન દોરો. કાચ, લાકȮુ ં

તથા ӗટની �દવાલને રҰડરӄગ કરો. (ƨક°લ ૧:૨૦ લો) 

07

 (બ) એક ચોરસ િ̆ͪમ ,પાયાની બાȩુ ૪૦મીમી તથા Әચાઈ ૬૫મીમી, 

તેનો પાયો V.P મા ં છે. તેની ધર� V.P.ને કાટȣણેુ તથા H.P. થી 

૩૦મીમી ઉપર છે. પાયાની એક ધાર H.P. સાથે 30° ȣણુો બનાવે છે. 

િ̆ͪમના ̆ોȐકશન દોરો. 

07

  અથવા  

 (બ) એક પƍંકોણીય િપરામીડ, પાયાની બાȩુ ૩૦મીમી તથા Әચાઈ 

૫૫મીમી, તેના પાયા સાથે H.P. પર પડ°લ છે. પાયાની એક ધાર 

V.P.ને કાટȣણેુ છે. િપરામીડના ̆ોȐકશન દોરો. 

07

    
̆-૩  એક ષͫકોણીય િપરામીડ, પાયાની બાȩુ ૩૫મીમી તથા Әચાઈ 

૬૫મીમી, તેના પાયા સાથે H.P. પર પડ°લ છે. પાયાની બે ધાર 

V.Pને સમાતંર છે. તે એપેëથી ૩૦મીમી નીચે ધર� પર આવેલ 

�બ�ȳુમાથંી પસાર થતા છેદ�ય આડ� સપાટ�થી છે�દત થાય છે. 

િપરામીડના ̆ોȐકશન દોરો. 

14

  અથવા  

̆-૩  એક નળાકાર તેના પાયા સાથે H.P. પર પડ°લ છે. તે V.Pને 45° એક 

ઓëીલર� ઉભી સપાટ� વડ° એવી ર�તે છે�દત થાય છે ક° Ȑથી છે�દત 

ભાગનો ј શેપ ૫૦મીમી xXxxxxxxx x ૬૦મીમી લબંચોરસ થાય. 

નળાકાર ના ̆ોȐકશન દોરો અને ઓëીલર� ઉભી સપાટ�થી Ӕતર 

શોધો. 

14

    
̆-૪  આĴિત - B મા ંદશા½વેલ નળાકારના P ભાગના સપાટ�ȵુ ંિવƨતરણ 

દોરો. 

14

  અથવા  

̆-૪  આĴિત - C  મા ંદશા½વેલ ષͫકોણીય િ̆ઝમના P ભાગના સપાટ�ȵુ ં

િવƨતરણ દોરો. 

14
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̆-૫  એક શȢું, પાયાનો ƥયાસ ૬૦મીમી તથા ૭૦મીમી તેના એક જનર°ટસ½  

સાથે H.P. પર પડ°લ છે. તેની ધર� V.Pને સમાતંર છે. શȢુંના 

̆ોȐƈશન દોરો.  

14

  અથવા  

̆-૫  એક ચોરસ િપરામીડ, પાયાની બાȩુ ૪૫મીમી તથા Әચાઈ ૬૦મીમી, 

તેના પાયા ની એક ધાર સાથે H.P. પર પડ°લ છે. તેની ધર� H.P. 

તથા V.P બđેને સમાતંર છે. િપરામીડના ̆ોȐƈશન દોરો. 

14
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